A

CERRE 112817 1pA=T T3P F¥82pc K2 $557 F2Z R FHI 2

Hix: =~
Hh(H =) &4 THEAED IR P B8 57 3 T ED HiFE 7 A5 #
EERRE %205 &k RecdR # T G 45l 7/10 TSR E 79,000{112# & .5 %
EERR G g gy F T 0701-0731 |- iERksk ¢ 80, 000{112# & s.5 %
Bt Rt B &
R

Lo Setg g3l ~ £ iz E;‘zz F 02052 1245 0 TS FITEE AT G A - R AR R AAEEN) 2 ARSI 2 g
o “7’*?:5“7,1 R )

2. WAL v A Sl R EP L BEH (3P TF GRS i s 40110, 6. 1-110. 6. 30 F#p42)
110.6.5~110. 6. 6(F I PEFRF )2 (M) i #ie) o

3R FH f"‘a‘ﬁ ARt H ez T B IRyl o

RE AR N EERIDERF Ak F AR T -

5. » % HL"%“—~ PAEEA lf‘-ipf£f‘]‘¢f£§£éé§50%uj N2 PAEE A o

B~




